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1.15X0.84=0.966 &R 0.966kg

5
43.6+3.5=12.55 BHA #712.5km
(32.4+28.8+38.7)+3=33.3

%2 33.3kg.
|4+35=0.4 X 40%
360%0.35=126 X 1262
160X |.25=200 X 200/
O+ 15=43
[J=43—15

=28 2R 28\

450—270=180, 5—2=3,

180+ 3 =60, 270—60X 2 =150
BEX VAT 150M, AHAL-600
(F /12, 450—60X 5=|50)

P.81~32)
|6 | 20V R348
BEZ FATI08 (8%

3%—|%=|% B2 1531
Fra=3 &1 5L
2.4X2.25=5.4 B2 5.41
14.443.2=4.5 %2 4.5m
3.4kg=34009, 3400<85=40
EX 40

(% 7:14, 859 =0.085kg, 3.4+0.085=40)
8 +32=0.25 &Z 0.25
(2711, 8+32=f mxL |

| 20+0,25=480 &X 480H
#7:04, O« LTOX0.25=120,
[IZI= 120-+0.25=480 ]

30-+-(30+220)=0.12 &X 12%
X 6 =330
[1=330-+6
=55 =X 55H
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B A E LM R,
%x24=q %5 9L

8 453+3.75=12%%10.3
BX 125.( 5 T%T, 0.3kgH 2,
5 12.4+0.8=155, |5.5%5.6=24].8

A 241.8m
8 200+0=8
[0=200+8
=25 HA 259

7 (FAERE) 550+450=1.222-

(BRANEES) 680+560=1.214
BR HANFER

492+9840=0.05 B 5%

8 2800X0.75=2100 &X 2100M
£ 7-14, 2800X0.25=700,
[2aoo—voo=2|oo J

10 36+0.45=80 EZ 80L
# 7214, [JX0.45=36,
[[]=36+0.45=80 J

N 64+(1+3)=16, 64—16=48

BXFVEIK-48F O, FOBEM-16T
(F 712, 16X 3=48)
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